Dr. Jieun Pando

Ector County ISD Director of School Nutrition (432) 456-9741
1120 W 10<sup>th</sup> St Odessa, TX
Odessa, TX 79763
lieun.Pando@ectorcountyisd.org



## IFB #25-11SN - Additional Food Items

- Purpose: The School Nutrition Department is seeking to purchase additional food items to continue the current menus and add new items preferred by students.
- **Background Info:** The School Nutrition Department continues to seek and procure the best-priced food items.
- Estimated Cost: \$629,038.00
- Funding Source: 240 Federal Funds
- Recommended Supplier/Service Provider:

Braun Beef Company
Tyson Prepared Foods, Inc
Goodman Food Products dba Don Lee Farms
Sysco West Texas
Gold Creek Foods
Master's Distribution

Date



1	Please use "Add Alternate" for alternate items. Do not use "Add Notes" tab. as this may lead to disqualification.

	CORN DOG											
	Sup	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Ali	ernate Description	Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price
	[ALT1] Tyson Pr	repared Foods, Inc.	750	Cases	\$37.11	\$27,832.50	Tyson Whole Grain B Dogs	attered Chicken Corn 4 oz	Tyson	10363650928	48	\$ 0.773
	Braun Beef Company  Master's Distribution  Sysco West Texas Ben E. Keith Company  [ALT1] GOODMAN FOOD PRODUCTS dba DON LEE FARMS		750	Cases	\$44.16	\$33,120.00	Minimum orde	r is 264 cases	FOSTER FARMS	95150	72	\$ 0.613
			750	Cases	\$44.34	\$33,255.00	5000#; 278cs 18lbs/cs;	ГіНі 9x8 72cs365 days	FOSTER FARMS	95150	72	
2			750	Cases	\$44.59	\$33,442.50			FOSTER FARMS	95150	72	\$ 0.616 \$ 0.619
			750 750	Cases	\$47.60 \$59.04	\$35,700.00 \$44,280.00	WHOLE GRAIN, JUM DOG, 2M/MA & 2G, 7	BO CHICKEN CORN 2/4.00 oz. SERVINGS	GOODMAN FOOD PRODUCTS dba DON LEE FARMS	95150 CN34072WG	72	\$ 0.661
		king Company, Inc.	750	Cases	No Bid				FOSTER FARMS	95150		\$ 0.820
	Integrated I	Food Service	750	Cases	No Bid				FOSTER FARMS	95150		
		icks, LLC	750	Cases	No Bid				FOSTER FARMS	95150		
		ods (omnibus trading oration)  Chinese Food Solutions	750	Cases	No Bid				FOSTER FARMS	95150		
	Ir	rc.)	750	Cases	No Bid				FOSTER FARMS	95150		
2	Gold Cre	eek Foods	750	Cases	No Bid				FOSTER FARMS	95150		
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total		Additonal Information	
[ALT1] Tyson Prepared Foods, Inc.	40 60	5	5	5	5	5	5	10 10	80 100			
Braun Beef Company Master's Distribution	55	5	5	5	5	5	5	10	95			
Sysco West Texas	50	5	5	5	5	5	5	10	90			
Ben E. Keith Company [ALT1] GOODMAN FOOD	45	5	5	5	5	5	5	10	85			
PRODUCTS dba DON LEE FARMS	35	5	5	5	5	5	5	10	75			
	BREADED BEEF FIN	CFR										
	DREADED DEED TE	TO LA										
		plier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alt	ernate Description	Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price
		red Foods, Inc. Vest Texas	600 600	Cases Cases	\$108.27 \$110.52	\$64,962.00 \$66,312.00			TYSON TYSON	100000068012 100000068012	123	\$ 0.88 \$ 0.90
		th Company	600	Cases	\$120.30	\$72,180.00			TYSON	100000068012	123 123	\$ 0.90 \$ 0.98
3	[ALT1] GOODMAN I DON LE	FOOD PRODUCTS dba E FARMS	600	Cases	\$130.85	\$78,510.00	WHOLE GRAING FINGERS, 2M/MA (134/3.60 oz.	& 1 G, 536/0.90 oz.	GOODMAN FOOD PRODUCTS dba DON LEE FARMS	CN63103	134	\$ 0.98
	Nardone Bros. Ba Gold Cre	king Company, Inc. eek Foods	600 600	Cases Cases	No Bid No Bid				TYSON TYSON	100000068012 100000068012		
	Chef's Corner Foo	ods (omnibus trading	600	Cases	No Bid				TYSON	100000068012		
		oration) ef Company	600	Cases	No Bid				TYSON	100000068012		
	Asian Food Solutions (	Chinese Food Solutions,	600	Cases	No Bid				TYSON	100000068012		
	Integrated I	ic.) Food Service	600	Cases	No Bid				TYSON	100000068012		
	Rich Ch	icks, LLC	600	Cases	No Bid				TYSON	100000068012		
3 Sumplier	BREADED BEEF FIN Criteria 1	VGER Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total		Additonal Information	
Supplier Tyson Prepared Foods, Inc.	60	5	5	5	5	5	5	10	100			
Sysco West Texas	55 50	5 5	5 5	5 5	5	5 5	5 5	10	95 90			
Ben E. Keith Company [ALT1] GOODMAN FOOD	50 45	5	5	5	5	5	5	10	90 85			
PRODUCTS dba DON LEE FARMS	•	,	3	3	,	,	3	10	65			
	HAMBURGER PATT	Υ										
	Sup	pplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alt	ernate Description	Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price
	[ALT2] Integrated F		500	Case	\$114.00	\$57,000.00	Triple B 100% Beef F patty provides 2.75 M ct/3.0	I/MA. Pack Size: 90	Integrated Food Service	N32300B-NF	90	\$ 127
	[ALT1] Tyson Pr	repared Foods, Inc.	500	Case	\$126.12	\$63,060.00	AdvancePierre Fully Co Grilled Beef Ste		AdvancePierre	10000068050	170	\$ 0.74
	[ALT1] Tyson Prepared Foods, Inc.  [ALT1] Integrated Food Service		500	Case	\$134.00	\$67,000.00	Triple B 100% Beef F patty provides 2.00 M	/MA. Pack Size: 140	Integrated Food Service	N32225B	140	
	[ALT1] Ben E.						ct/2.2	5 oz				\$ 0.96

4	[ALT3] Integral	ted Food Service	500	Case	\$146.00	\$73,000.00	Triple B 100% Beef E patty provides 3.75 N ct/4.0	I/MA. Pack Size: 90	Integrated Food Service	N32400B	146	\$ 1.00
	[ALT1] Braun Beef Company  [ALT1] Sysco West Texas  GOODMAN FOOD PRODUCTS dba DON LEE FARMS		500	Case	\$150.43	\$75,215.00	2.25 oz Signatu	are Beef Patty	JTM	CP5682 Minimum order is 210 cases	216	\$ 0.70
			510	Case	\$148.17	\$75,566.70	SOD FULLY CKDCPS DAYS / 210 CASE	2377012ALT 6 / 5 LBJTMBEEF PATTY RED SOD FULLY CKDCP5683LEAD TIME = 30 DAYS / 210 CASE MINIMUM / 216 SERVINGS		CP5683	216	\$ 0.69
			500	Case	\$158.72	\$79,360.00	5,000 lbs. COMBINE DELIV	ED MINIMUM FOR	DON LEE	CN092253	220	\$ 0.72
	Nardone Bros. Ba	Nardone Bros. Baking Company, Inc. Gold Creek Foods		Case Case	No Bid No Bid				DON LEE DON LEE	CN092253 CN092253		\$ 0.72
	Chef's Corner Foo	ds (omnibus trading	500	Case	No Bid				DON LEE	CN092253		
	corporation)  Asian Food Solutions (Chinese Food Solutions, Inc.)		500	Case	No Bid				DON LEE	CN092253		
4	Rich Chi	icks, LLC	500	Case	No Bid				DON LEE	CN092253		
4 Supplier	HAMBURGER PATT Criteria 1	Y Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Add	litonal Information	
[ALT2] Integrated Food Service	25	5	5	5	5	5	5	10	65			
[ALT1] Tyson Prepared Foods, Inc.	45 35	5	5	5	5	5	5	10	85 75			
[ALT1] Integrated Food Service [ALT1] Ben E. Keith Company	40	5	5	5	5	5	5	10 10	80			
[ALT3] Integrated Food Service	30	5	5	5	5	5	5	10	70			
[ALT1] Braun Beef Company	55	5	0	0	5	5	5	8	83	APPRECEANCE AND TA	STE NOT PREFERRED-SOY PRODU	JCT
[ALT1] Sysco West Texas	60	5	0	0	5	5	5	8	88	DIDNT SUBM	MIT NUTRITIONAL LABEL	
GOODMAN FOOD PRODUCTS dba DON LEE FARMS	50	5	5	5	5	5	5	10	90			
	MANDARIN ORANG	E CHICKEN										
		plier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alt	ernate Description	Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price
	[ALT1] Ben E.	Keith Company	600	Case	\$40.61	\$24,366.00	Perfect Answers NAE Tempura Portioned Breast Chunks, FC, Fritter, Frozen  Brakebush		Brakebush	5990	57	0.71245614
	[ALT1] Gold Creek Foods		600	Case	\$136.49	\$81,894.00	WG Dark Meat Large Popcorn with Hunan Orange Sauce. 113 - 4.5oz servings. 32# chicken + 12# sauce = 44# case. \$1.208 cost per serving. 49cs per pallet. shelf life - 365 days.		Gold Creek	Gold Creek	113	1.207876106
5	[ALT1] Asian Food Solutions (Chinese Food Solutions, Inc.)		600	Case	\$149.15	\$89,490.00	Tangerine Chicken WG 0.5G - 176 Servings po Breaded Chicken Chunk	Tangerine Chicken WG (72001) - 2 M/MA & 0.5G - 176 Servings per Case - Whole Grain Breaded Chicken Chunks in a Tangerine Sauce - 6/5lbs Battered Chicken; 6/2,15lbs Sauce		72001	176	0.847443182
-	[ALT1] Chef's Corner corpo	Foods (omnibus trading attion)  Case \$150.00 \$90,000.00 Fraded chicken churks breaded chicken churks breaded Orange flavored sauce; One ser provide at least 2 oz eq M/MA; Es counts based on 171 serving		ks breaded; Mandarin ce; One serving must M/MA; Estimated case	CHEFS CORNER FOODS	0111	171	0.877192982				
	Sysco W	est Texas	600	Case	\$172.36	\$103,416.00	LEAD TIME = 30 DAYS / 6 PALLET /210 CASE MINIMUM		YANGS 5TH TASTE	15552-4	192	0.897708333
	Braun Bee	f Company	600	Case	No Bid				YANGS 5TH TASTE	15552-4		7700333
	Integrated I	ood Service	600	Case	No Bid				YANGS 5TH TASTE	15552-4		
	GOODMAN FOOD I	PRODUCTS dba DON	600	Case	No Bid				YANGS 5TH TASTE	15552-4		
	LEE F	ARMS	000 Case No Bit YANGS 51H IASTE			15552-4						
	Nardone Bros. Ba MANDARIN ORANG		600	Case	No Bid				YANGS 5TH TASTE	15552-4		
Supplier	MANDARIN ORANG Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Add	litonal Information	
[ALT1] Ben E. Keith Company	0	0	0	0	0	0	0	0	0		(DOESN'T MEET THE REQUIREM	ENTS)
[ALT1] Gold Creek Foods	45	5	5	5	5	5	5	10	85			
[ALT1] Asian Food Solutions (Chinese Food Solutions, Inc.)	60	5	0	0	5	5	5	8	88	TASTE & FI	LAVOR-NOT PREFERRED	
[ALT1] Chef's Corner Foods (omnibus	55	5	0	0	5	5	5	8	83	TACTE & FI	LAVOR-NOT PREFERRED	
trading corporation)  Sysco West Texas	50	5	5	5	3	5	3	10	90	IASIE & FI		
Sysco west rexas	30	3	3	3	3	3	3	10	90			
	SWEET & SOUR CHI	CKEN										
	Sup	plier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alt	ernate Description	Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price
		Foods (omnibus trading ration)	600	Case	\$150.00	\$90,000.00	Fully cooked; CN label breaded chicken chur flavored sauce; One se least 2 oz eq M/MA; I based on 171	nks; Sweet and Sour rving must provide at Estimated case counts	CHEFS CORNER FOODS	0116	171	0.977102092
6	[ALT1] Asian Food Solutions (Chinese Food Solutions, Inc.)		600	Case	\$160.59	\$96,354.00		n Chicken WG (72005) - 6 Servings per Case - Chicken Chunks in a ssom Sauce - 6/5lbs	International Food Solutions, Inc.	72005	176	0.877192982

	Sysco W	act Tayne	600	Case	\$172.36	\$103,416.00	LEAD TIME = 30 DA	AYS / 6 PALLET /210	YANGS 5TH TASTE5	15551-7	192									
						\$105,410.00	CASE M	INIMUM			192	0.897708333								
	Braun Bee	f Company Good Service	600	Case Case	No Bid No Bid				YANGS 5TH TASTE	15551-7 15551-7										
	Rich Chi	icks, LLC	600	Case	No Bid				YANGS 5TH TASTE YANGS 5TH TASTE	15551-7										
	GOODMAN FOOD F	PRODUCTS dba DON FARMS	600	Case	No Bid				YANGS 5TH TASTE	15551-7										
		th Company	600	Case	No Bid				YANGS 5TH TASTE	15551-7										
	Nardone Bros. Bal	king Company, Inc.	600	Case	No Bid				YANGS 5TH TASTE	15551-7										
-	Gold Cre SWEET & SOUR CHI	eek Foods	600	Case	No Bid	l			YANGS 5TH TASTE	15551-7										
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Add	ditonal Information									
[ALT1] Chef's Corner Foods (omnibus	0	0	0	0	0	0	0	0	0		NO SAMPLE									
trading corporation) [ALT1] Asian Food Solutions (Chinese																				
Food Solutions, Inc.)	55	5	5	5	5	5	5	5	90											
Sysco West Texas	60	5	5	5	5	5	5	5	95											
	CHICKEN PATTY FO	OR CHICKEN PARM																		
	Sup	plier	QTY	UOM	Unit Price	Extended	Supplier Notes / Al	ternate Description	Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price								
	[ALT1] Braun	Beef Company	350	Cases	\$22.32	\$7,812.00	Breast Patties, CN Wh		KOCH Foods	85609 Minimum Order 500 cases assorted Koch Food Items	48	0.465								
	[ALT1] Maste	er's Distribution	350	Cases	\$23.13	\$8,095.50	CHICKEN PATTY F	OR CHICKEN PARM	Koch - 5000# Koch combined; 441cs 11.35lbs/cs (TiHi 13x11 143cs) 365	85609	48									
									days			0.481875								
7	[ALT1] Rich	Chicks, LLC	350	Cases	\$80.71	\$28,248.50	Fully cooked; whole grain breaded chicken filets; CN label required; one portion must provide 2 oz. equivalent M/MA and 1 oz. equivalent Gains; Credible grain content must be at least 50% whole grain (ORDER MIN 280 CS, 5600 LBS, MUST ORDER IN FULL PALLET QTY. TiHi 10X7 = 70 CS/PALLET)		RICH CHICKS	54486	70	1.153								
	[ALT1] Gold Creek Foods		350	Cases	\$95.04	\$33,264.00	WG Whole Muscle Breast Fillets. 128 - 4oz servings per 32# case. 50.743 cost per serving. 49cs per pallet. shelf life - 365 days.		Gold Creek	Gold Creek	128	0.7425								
	Tyson Prepar	Tyson Prepared Foods, Inc.		Cases \$107.45 \$37,6		\$37,607.50			TYSON	10703020928	132	0.814015152								
	Sysco West Texas		350	Cases	\$109.70	\$38,395.00			TYSON	10703020928	132	0.831060606								
	Ben E. Keith Company Nardone Bros. Baking Company, Inc.		350 350	Cases Cases	\$119.39 No Bid	\$41,786.50			TYSON TYSON	10703020928 10703020928	132	0.904469697								
	Integrated Food Service		350	Cases	No Bid				TYSON	10703020928										
	Asian Food Solutions (Chinese Food Solutions,		350	Cases	No Bid				TYSON	10703020928										
	Inc.) GOODMAN FOOD PRODUCTS dba DON		250	_																
	LEE FARMS		350	Cases	Cases	Cases	Cases	Cases	Cases	Cases	Cases	Cases	No Bid				TYSON	10703020928		
7	CHICKEN PATTY FO	OR CHICKEN PARM	0 1 1 2	0.5.1.4	0.5.1.5	05.16					dditonal Information									
Supplier [ALT1] Braun Beef Company	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total 0	Au	NO SAMPLE									
[ALT1] Master's Distribution	0	0	0	0	0	0	0	0	0		NO SAMPLE									
[ALT1] Rich Chicks, LLC	40 60	5	5	5	5	5	5	10	80											
[ALT1] Gold Creek Foods Tyson Prepared Foods, Inc.	55	5	5	5	5	<u>5</u>	<u>5</u> 5	10 10	100 95											
Sysco West Texas	50	5	5	5	5	5	5	10	90											
Ben E. Keith Company	45	5	5	5	5	5	5	10	85											
	PREADED CHICKEN	POPPERS/NUGGETS	9																	
	Sup		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description		Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price								
	[ALT1] Braun	Beef Company	850	Cases	\$22.30	\$18,955.00	Breast Patties, CN Nug Breaded Fully Cooked	get Shaped Whole Grain Pack size is 2/5.175 lb	Koch Goods	#85606 Minimum Order 500 cases assorted Koch Food Items	60	0.371666667								
	[ALT2] Maste	er's Distribution	850	Cases	\$23.13	\$19,660.50	BREADED CHICKEN	POPPERS/NUGGETS	Koch Breaded Chicken Nuggets - 5000# Koch combined; 441cs 11.35lbs/cs (TiHi 13x11 143cs) 365 days	85606	60	0.3855								
	[ALT1] Maste	er's Distribution	850	Cases	\$33.40	\$28,390.00	BREADED CHICKEN POPPERS/NUG		Koch Breaded Popcorn Chicken - 5000# Koch combined; 456cs 10.96lbs/cs (TiHi 13x11 143cs) 365 days	86318	54	0.618518519								
	Tyson Prepar	Tyson Prepared Foods, Inc.		Tyson Prepared Foods, Inc. 850		Prepared Foods, Inc. 850	Cases	\$74.20	\$63,070.00			TYSON	10703680928	156	0.475641026					
8	[ALTI] Rich Chicks, LLC		850	Cases	\$74.32	\$63,172.00	pieces; CN label requiprovide at least 2 oz. e oz. equivalent Grains;	Credible grain content ole grain (ORDER MIN UST ORDER IN FULL	RICH CHICKS	54409	107	0.40470420								
	Sysco W	est Texas	850	Cases	\$76.20	\$64,770.00			TYSON	10703680928	156	0.694579439 0.488461538								
	[ALT1] Gold		850	Cases	\$79.36	\$67,456.00	CN WG Popcorn Chicl per 32# case. 12-0.25o; serving. 49cs per palle	e = 3oz. \$0.467 cost per	Gold Creek	Gold Creek	170									
							serving. 49cs per pallet. shelf life - 365 days.					0.466823529								

	Ben E. Keit	th Company	850	Cases	\$82.44	\$70,074.00			TYSON	10703680928	156	0.528461538
		l Creek Foods	850	Cases	\$95.04	\$80,784.00	CN WG Large Popcorn servings per 32# case	. 10-0.45oz = 4.5oz.	Gold Creek	Gold Creek	113	
							\$0.841 cost per serving. life - 36	49cs per pallet. shelf 5 days.				0.841061947
	Nardone Bros. Bal	king Company, Inc.	850 850	Cases Cases	No Bid No Bid				TYSON	10703680928		_
	Asian Food Solutions (C	Chinese Food Solutions,	850 850	Cases	No Bid				TYSON TYSON	10703680928 10703680928		
	GOODMAN FOOD F	products dba don FARMS	850	Cases	No Bid				TYSON	10703680928		
		N POPPERS/NUGGETS	Criteria 3	Criteria 4	Criteria 5	Cultural C		91.10	Total	Ad	lditonal Information	
Supplier [ALT1] Braun Beef Company	Criteria 1	Criteria 2	Oriteria 3	0	0	Criteria 6	Criteria 7	Criteria 8	1 otai 0	Au	No Sample	
[ALT2] Master's Distribution	0	0	0	0	0	0	0	0	0		No Sample	
[ALT1] Master's Distribution	40	5	5	5	5	5	5	10	80		-	
Tyson Prepared Foods, Inc.	60	5	5	5	5	5	5	10	100			
[ALT1] Rich Chicks, LLC Sysco West Texas	35 55	5	5	5 5	5	5	5	10 10	75 95			
[ALT1] Gold Creek Foods	50	5	5	5	5	5	5	10	90	TASTE & F	LAVOR-NOT PREFFERED	
Ben E. Keith Company	45	5	5	5	5	5	5	10	85			
[ALT2] Gold Creek Foods	30	5	5	5	5	5	5	10	70			
	GARLIC PIZZA											
		plier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alt	ernate Description	Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price
	Master's Distribution		600	Cases	\$63.62	\$38,172.00	7000# full plts/even layers; 350cs, 20lbs/cs; TiHi 9x6 54cs180 days		NARDONES	64WPG	64	0 9940625
	Braun Bee	ef Company	600	Cases	\$64.30	\$38,580.00	Minimum orde	r is 388 cases	NARDONES	64WPG	64	1.0046875
9	Sysco West Texas		600	Cases	\$64.62	\$38,772.00	30 DAY LEAD TIME - 7000 LB MINIMUM FULL PALLETS / 54 CASES TO A PALLET		NARDONES	64WPG	64	
	Nardone Bros. Baking Company, Inc.		600	Cases	\$66.37	\$39,822.00			NARDONES	64WPG	64	1.0096875
	Ben E. Keith Company		600	Cases	\$69.30	\$41,580.00			NARDONES	64WPG	64	1.0828125
	Asian Food Solutions (Chinese Food Solutions,		600	Cases	No Bid				NARDONES	64WPG		
	Inc.)											
	Integrated Food Service Rich Chicks, LLC		600	Cases	No Bid				NARDONES	64WPG		
	Rich Chicks, LLC GOODMAN FOOD PRODUCTS dba DON											
			600	Cases	No Bid				NARDONES	64WPG		
	GOODMAN FOOD F LEE F	PRODUCTS dba DON FARMS	600	Cases	No Bid				NARDONES	64WPG		
9	GOODMAN FOOD P LEE F Gold Cre	PRODUCTS dba DON								64WPG 64WPG		
Supplier	GOODMAN FOOD F LEE F Gold Cre GARLIC PIZZA Criteria 1	PRODUCTS dba DON FARMS	600	Cases	No Bid	Criteria 6	Criteria 7	Criteria 8	NARDONES  NARDONES  Total	64WPG 64WPG	lditonal Information	
Supplier Master's Distribution	GOODMAN FOOD F LEE F Gold Cre GARLIC PIZZA	PRODUCTS dba DON FARMS cek Foods	600	Cases Cases	No Bid	Criteria 6	Criteria 7 5 5	10	NARDONES NARDONES	64WPG 64WPG	iditonal Information	
Supplier Master's Distribution Braun Beef Company Sysco West Texas	GOODMAN FOOD F LEE F. Gold Cre GARLIC PIZZA Criteria 1 60 55 50	PRODUCTS dba DON PARMS  eek Foods  Criteria 2  5  5  5	600 600 Criteria 3 5 5 5	Cases  Cases  Criteria 4  5  5  5	No Bid  No Bid  Criteria 5  5  5  5	5 5 5	Criteria 7 5 5 5 5	10 10 10	NARDONES  NARDONES  Total 100 95 90	64WPG 64WPG	iditonal Information	
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc.	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45	PRODUCTS dba DON FARMS cek Foods	600	Cases Cases	No Bid  No Bid  Criteria 5  5  5	5 5	Criteria 7	10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85	64WPG 64WPG	lditonal Information	
Supplier Master's Distribution Braun Beef Company Sysco West Texas	GOODMAN FOOD F LEE F. Gold Cre GARLIC PIZZA Criteria 1 60 55 50	PRODUCTS dba DON PARMS  eek Foods  Criteria 2  5  5  5	600 600 Criteria 3 5 5 5	Cases  Cases  Criteria 4  5  5  5	No Bid  No Bid  Criteria 5  5  5  5	5 5 5	Criteria 7	10 10 10	NARDONES  NARDONES  Total 100 95 90	64WPG 64WPG	dditonal Information	
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc.	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45	PRODUCTS dba DON PARMS seek Foods  Criteria 2 5 5 5 5 5 5 5 5 5 5 7 7 8 7 8 8 8 8 8 8	600 600 Criteria 3 5 5 5	Cases  Cases  Criteria 4  5  5  5	No Bid  No Bid  Criteria 5  5  5  5	5 5 5	Criteria 7	10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85	64WPG 64WPG	lditonal Information	
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc.	GOODMAN FOOD F LEE F GOOD F GO	PRODUCTS dba DON  ARMIS  sek Foods	600 600 Criteria 3 5 5 5	Cases  Cases  Criteria 4  5  5  5	No Bid  No Bid  Criteria 5  5  5  5	5 5 5	5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85	64WPG 64WPG	ditional Information  # of Servings P/Case	Serving Price
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc.	GOODMAN FOOD P  LEE F  Gold Cre  GARLIC PIZZA  Criteria 1  60  55  50  45  45  40  BEEF & CHEESE TA  Supple  GOODMAN FOODP  LEE F	PRODUCTS dba DON  ARMS  sek Foods  Criteria 2  5  5  5  5  5  CO CRISP  piler  PRODUCTS dba DON  ARMS	600 600 Criteria 3 5 5 5 5 5 QTY	Cases  Cases  Criteria 4  5  5  5  5  UOM  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  Unit Price  \$\$88.89\$	5 5 5 5 5	5 5 5 5 5	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer DON LEE	64WPG 64WPG Ad Manufacturer # SCUBCT		Serving Price
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc. Ben E. Keith Company	GOODMAN FOOD P LEE F GOOD CONTROL OF THE STATE OF THE STA	PRODUCTS dba DON	600 600 Criteria 3 5 5 5 5 5 Criteria 4 00 400	Cases  Cases  Criteria 4  5  5  5  5  UOM  Cases  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  Unit Price  \$88.89  No Bid	5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 95 80  Manufacturer  DON LEE DON LEE	64WPG 64WPG Ad  Manufacturer #  SCUBCT SCUBCT	# of Servings P/Case	
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc.	GOODMAN FOOD P  LEE F  GOARLIC PIZZA  Criteria  60  55  50  45  45  40  BEEF & CHEESE TA  Supp  GOODMAN FOOD P  LEE F  Ben E. Keit Nardone Bros. Bal	PRODUCTS dba DON ARMS Sek Foods  Criteria 2  5  5  5  5  5  5  CRISP PUBLIF PRODUCTS dba DON ARMS  the Company, Inc.	600 600 Criteria 3 5 5 5 5 5 QTY 400 400	Cases	No Bid  No Bid  Criteria 5  5  5  5  5  5  Unit Price  \$88.89  No Bid  No Bid	5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer DON LEE DON LEE	64WPG 64WPG Ad  Manufacturer #  SCUBCT SCUBCT	# of Servings P/Case	
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc. Ben E. Keith Company	GOODMAN FOOD P LEE F GOND CREETE GOND CREETE GOODMAN FOOD S GOODMAN FOOD F LEE F Ben E. Keit Nardone Bros. Bals	PRODUCTS dba DON SARMS sek Foods  Criteria 2 5 5 5 5 5 CO CRISP pllier PRODUCTS dba DON SARMS	600 600 Criteria 3 5 5 5 5 5 Criteria 4 00 400	Cases  Cases  Criteria 4  5  5  5  5  UOM  Cases  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  Unit Price  \$88.89  No Bid	5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 95 80  Manufacturer  DON LEE DON LEE	64WPG 64WPG Ad  Manufacturer #  SCUBCT SCUBCT	# of Servings P/Case	
Supplier Master's Distribution Braun Berd Company Sysco West Texas Nardone Bros. Baking Company, Inc. Ben E. Keith Company	GOODMAN FOOD P  LEE F  Gold Cre  GARLIC PIZZA  Criteria I  60  55  59  45  45  40  BEEF & CHEESE TA  Supp  GOODMAN FOOD P  LEE F  Ben E. Keit  Nardone Bross Bail  Gold Cre  Braun Bee  Asian Food Solutions (C	PRODUCTS dba DON	600 600 Criteria 3 5 5 5 5 5 5 QTY 400 400 400	Cases  Cases  Criteria 4  5  5  5  5  UOM  Cases  Cases  Cases  Cases  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  Unit Price  \$88.89  No Bid  No Bid  No Bid	5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE DON LEE DON LEE	64WPG 64WPG Ad Manufacturer # SCUBCT SCUBCT SCUBCT SCUBCT	# of Servings P/Case	
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc. Ben E. Keith Company	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 45 40 BEEF & CHEESE TA: Sup GOODMAN FOOD P LEE F Ben E. Keit Natione Bross Bai Gold Cre Barnan Bee Asian Food Solutions (c	PRODUCTS dba DON ARMS  ck Foods  Criteria 2  5  5  5  5  CO CRISP piller  PRODUCTS dba DON ARMS  th Gompany line. ck Foods  ff Company	600 600 Criterin 3 5 5 5 5 5 COTY 400 400 400 400 400	Cases  Cases  Criterin 4  5  5  5  5  UOM  Cases  Cases  Cases  Cases  Cases  Cases  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  Unit Price  \$88.89  No Bid  No Bid  No Bid  No Bid	5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 95 90 85 80  Manufacturer  DON LEE DON LEE DON LEE DON LEE	64WPG 64WPG Ad Manufacturer# SCUBCT SCUBCT SCUBCT SCUBCT SCUBCT SCUBCT	# of Servings P/Case	
Supplier Master's Distribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc. Ben E. Keith Company	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 45 45 GOODMAN FOOD P LEE F Ben E. Keit Nardone Brox. Bid Gold Cre Garann Bee Asian Food Solutions (In Sysco W Integrated F	PRODUCTS dba DON ARMS  ek Foods  Criteria 2  5  5  5  5  CO CRISP  pillier  PRODUCTS dba DON ARMS  king Company, inc. ek Foods  for Company, inc. ek Foods  for Company  king Company, inc. ek Foods  for Company  chinese Food Solutions, ec.)  est Texas  Food Service	600 600 Criteria 3 5 5 5 5 5 400 400 400 400 400 400 400	Cases  Cases  Criteria 4  5  5  5  5  5  Cumple 1  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  5  Unit Price  \$88.89  No Bid	5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad  Manufacturer#  SCUBCT SCUBCT SCUBCT SCUBCT SCUBCT SCUBCT SCUBCT SCUBCT	# of Servings P/Case	
Supplier Master's Daribution Braun Beef Company Sysco West Texas Nardone Bros. Baking Company, Inc. Ben E. Keith Company  10	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 46 BEEF & CHEESE TA Suppl GOODMAN FOOD F BEN E. Keite IN Nardone Braun Bee Asian Food Solutions (G Sysco W Integrated F Rich Chi	PRODUCTS dba DON ARMS ARMS ARMS  Criteria 2  5  5  5  5  5  CO CRISP  PRODUCTS dba DON ARMS  ARM	600 600 Criteria 3 5 5 5 5 5 5 400 400 400 400 400	Cases   Cases	No Bid  No Bid  Criteria 5  5  5  5  5  Unit Price  \$583.89  No Bid	5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt	10 10 10 10 10 10	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad  Manufacturer #  SCUBCT	# of Servings P/Case	
Supplier Master's Distribution Brain Beef Company Sysco West Texas Nurdone Box Baking Company, Inc. Ben E. Keith Company  10  10  Supplier	GOODMAN FOOD P LEE F GORLIC PIZZA Criteral 60 55 50 45 45 40 BEEF & CHEESE TA Ben E. Keit Nardone Bros. Bai Gold Cre Braun Bee Asian Food Solutions (In Integrated F Rich Chi BEEF & CHEESE TA Criteral	PRODUCTS dba DON ARMS  eck Foods  Criteria 2  5  5  5  5  5  CO CRISP piller  PRODUCTS dba DON ARMS  th Company, Inc. eck Foods et Company Chinese Food Solutions, e.c.)  est Texas  odo Service icks CLIC  CO CRISP Criteria 2	600  Criteria 3  5  5  5  5  5  QTY  400  400  400  400  400  400  400  Criteria 3	Cases  Cases  Criteria 4  5  5  5  5  5  Cuon Cases	No Bid	5 5 5 5 5 5 5 Extended \$33,556,00	5 5 5 5 5 Supplier Notes / Alt 5,000 lbs. COMBINE DELIV	10 10 10 10 10 10 10 10 10  Permate Description D MINIMUM FOR ERY.  Criteria 8	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad  Manufacturer#  SCUBCT	# of Servings P/Case	
Supplier Mater's Distribution Braun Beef Company Sysco West Fexas Nardone Bros. Baking Company. Inc. Ben E. Keith Company	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria I 60 55 59 45 44 40 BEEF & CHEESE TA Supp GOODMAN FOOD F Ben E. Keit Nardone Bros. Bal Gold Cre Braun Bee Asian Food Solutions (6 Sysco W Integrated F Rich CHEESE TA Criteria I 60	PRODUCTS dba DON SARMS S	600 600 Criteria 3 5 5 5 5 5 5 QTY 400 400 400 400 400 400 400 400 400 40	Cases  Cases  Criteria 4  5  5  5  5  Cumple 4  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  5  White Price  \$88.89  No Bid	5 5 5 5 5 5 5 5 5	5 5 5 5 5 5 5 Supplier Notes / Alt 5,000 lbs. COMBINE DELLV	10 10 10 10 10 10 10 10 Employed the control of the	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad  Manufacturer#  SCUBCT	# of Servings P/Case 106	
Supplier Mater's Distribution Braun Beef Company Sysco West Fexas Nardone Bross Baking Company. Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOD PRODUCTS dba	GOODMAN FOOD P LEE F GORLIC PIZZA Criteral 60 55 50 45 45 40 BEEF & CHEESE TA Ben E. Keit Nardone Bros. Bai Gold Cre Braun Bee Asian Food Solutions (In Integrated F Rich Chi BEEF & CHEESE TA Criteral	PRODUCTS dba DON SARMS S	600  Criteria 3  5  5  5  5  5  QTY  400  400  400  400  400  400  400  Criteria 3	Cases  Cases  Criteria 4  5  5  5  5  5  Cuon Cases  Cases	No Bid	5 5 5 5 5 5 5 Extended \$33,556,00	5 5 5 5 5 Supplier Notes / Alt 5,000 lbs. COMBINE DELIV	10 10 10 10 10 10 10 10 10  Permate Description D MINIMUM FOR ERY.  Criteria 8	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad  Manufacturer#  SCUBCT	# of Servings P/Case 106	
Supplier Mater's Distribution Braun Beef Company Sysco West Texas Nardone Bross Baking Company. Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOD PRODUCTS dba	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 SS S0 45 45 45 40 BEEF & CHEESE TA Supp GOODMAN FOOD F BEEF & Gold Cre Braun Bee Asian Food Solutions (in In Sysco W Integrated F BEEF & CHEESE TA Criteria 1 60 SHREDDED CHICKE Supp	PRODUCTS dba DON ARMS sek Foods  Criteria 2  5  5  5  5  5  5  5  CO CRISP PRODUCTS dba DON ARMS this groups, Inc., sek Foods  the Goognapay, Inc., sek Foods  the Goognapay, Inc., sek Foods  the Company Chinese Food Solutions, to.)  feat Teass  Tood Service  seks, LLC  CO CRISP  Criteria 2  5  EN & CHEESE TACO  plier	600  Criteria 3  5  5  5  5  5  QTY  400  400  400  400  400  400  400  Criteria 3	Cases  Cases  Criteria 4  5  5  5  5  5  Cuon Cases  Cases	No Bid	5 5 5 5 5 5 5 Extended \$33,556,00	S S S S S S S S S S S S S Supplier Notes / Alt  Criteria 7 S Supplier Notes / Alt	ernate Description  Criteria 8  10  Criteria 8  10  Criteria 10	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad  Manufacturer#  SCUBCT	# of Servings P/Case 106	
Supplier Mater's Distribution Braun Beef Company Sysco West Texas Nardone Bross Baking Company. Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOD PRODUCTS dba	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 45 40 BEEF & CHEESE TA Gold Cre Braun Bee Asian Food Solutions (In Integrated F Rich Chi BEEF & CHEESE TA Criteria 1 60 SHREDDED CHICKE Sup GOODMAN FOOD P SUP SUP SHAPP SUP SUP GOODMAN FOOD P SHAPP SUP SHAPP SUP SHAPP SUP SHAPP SUP GOODMAN FOOD P SHREDDED CHICKE Sup GOODMAN FOOD P GOODMAN FOOD P SHREDDED CHICKE Sup	PRODUCTS dba DON ARMS  eck Foods  Criteria 2  5  5  5  5  5  CO CRISP  piller  PRODUCTS dba DON ARMS  th Company, Inc. eck Foods  of Company, Inc. eck Foods  Company, Inc. eck Foods  Company Chinese Food Solutions, ec.)  est Texas  ood Service ecks, LLC  CO CRISP  CO CRISP  Ext Agents  Ext Age	600 600 Criteria 3 5 5 5 5 5 5  QTY 400 400 400 400 400 400 400 Criteria 3 5  QTY 500	Cases	No Bid  No Bid  Criteria 5  5  5  5  5  5  5  Cunit Price  S88.89  No Bid  No Bid	5 5 5 5 5 5 Extended \$35,556.00	5 5 5 5 5 Supplier Notes / Alt 5,000 lbs. COMBINE DELIV  Criteria 7 5	10 10 10 10 10 10 10 10 ET MINIMUM FOR ERY.  Criteria 8 10 ET MINIMUM FOR ERY MINIMUM FOR	NARDONES  NARDONES  Total 100 95 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad Ad Ad Manufacturer # SCUBCT	# of Servings P/Case 106  logical and the serving serv	0.838584906
Supplier Matter's Distribution Braun Beef Company Sysco West Texas Nandone Bros. Baking Company. Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOOD PRODUCTS dba	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 44 48 BEEF & CHEESE TA Supply GOODMAN FOOD F LEE F Ben E. Keit ENCHOLOGY Integrated F Sysoo W Integrated F BEF & CHEESE TA Criteria 1 60 SHREDDED CHICKE Supply GOODMAN FOOD F LEE F Ben E. Keit ENCHOLOGY LEE F Ben	PRODUCTS dba DON ARMS Sek Foods  Criteria 2 5 5 5 5 5 5 5 CO CRISP  PRODUCTS dba DON ARMS  CO CRISP  PRODUCTS dba DON ARMS  CO CRISP  CO	600 600 Criteria 3 5 5 5 5 5 5 5  QTY 400 400 400 400 400 400 400 Criteria 3 5 QTY 500	Cases	No Bid No Bid Criteria 5 5 5 5 5 5 5 5 Unit Price SS8.89 No Bid To Bid No Bid	5	5 5 5 5 5 5 Supplier Notes / Alt  Criteria 7 5 Supplier Notes / Alt  Supplier Notes / Alt  Supplier Notes / Alt	10 10 10 10 10 10 10 10 ET MINIMUM FOR ERY.  Criteria 8 10 ET MINIMUM FOR ERY MINIMUM FOR	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad Ad Ad Manufacturer # SCUBCT	# of Servings P/Case  106  106  Iditional Information  # of Servings P/Case	0.838584906
Supplier Matter's Distribution Braun Beef Company Sysco West Texas Nandone Bros. Baking Company. Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOOD PRODUCTS dba	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 45 46 BEEF & CHEESE TA Sup GOODMAN FOOD P LEE F Ben E. Keit Natione Bross Bai Gold Cre Braun Bee Asian Food Solutions (In Sysso W Integrated F Rich Chi BEEF & CHEESE TA Criteria 1 60 SHREDDED CHICKE Sup GOODMAN FOOD P LEE F Bren E. Keit R R R R R R R R R R R R R R R R R R R	PRODUCTS dba DON ARMS  eck Foods  Criteria 2  5  5  5  5  CO CRISP piller  PRODUCTS dba DON ARMS  ith Company, Inc. eck Foods  for Company Chinese Food Solutions, e.)  est Texas  cod Service icks, LLC  CO CRISP  CO CRISP  CO CRISP  Est Agent  Est Agent  Est Cond  Es	600 600 Criteria 3 5 5 5 5 5 7  QTY 400 400 400 400 400 400 400 400 400 40	Cases  Cases  Criteria 4  5  5  5  5  5  Cuons  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  5  Cunit Price  S88.89  No Bid  Vo Bid  No Bid	5	5 5 5 5 5 5 Supplier Notes / Alt  Criteria 7 5 Supplier Notes / Alt  Supplier Notes / Alt  Supplier Notes / Alt	10 10 10 10 10 10 10 10 ET MINIMUM FOR ERY.  Criteria 8 10 ET MINIMUM FOR ERY MINIMUM FOR	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad Ad Ad Manufacturer # SCUBCT SCUCCT SCUCCT SCUCCT	# of Servings P/Case  106  106  Iditional Information  # of Servings P/Case	0.838584906
Supplier Masters Distribution Braun Beef Company Space West Texas Nardone Bros. Bakine Company, Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOD PRODUCTS dba DON LEE FARMS	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 45 46 BEEF & CHEESE TA Sup GOODMAN FOOD P LEE F Ben E. Keit Natione Bross Bai Gold Cre Braun Bee GOODMAN FOOD P Rish Che Syson GOODMAN FOOD P Rish Che Braun Bee Gold Cre Sup GOODMAN FOOD P LEE F Ben E. Keit Natione Gold Cre Braun Bee Braun Bee GOODMAN FOOD P LEE F Ben E. Keit Natione Gold Cre Braun Bee Braun Bee	PRODUCTS dba DON ARMS  eck Foods  Criteria 2  5  5  5  5  5  CO CRISP piller  PRODUCTS dba DON ARMS  king Company, Inc. eck Foods  Cod Service icks, LLC CO CRISP  CO CRISP  CO CRISP  CO CRISP  Est Estas  CO Service icks, LLC CO CRISP  C	600 600 Criteria 3 5 5 5 5 5 5 5  QTY 400 400 400 400 400 400 400 Criteria 3 5 QTY 500	Cases	No Bid No Bid Criteria 5 5 5 5 5 5 5 5 Unit Price SS8.89 No Bid To Bid No Bid	5	5 5 5 5 5 5 Supplier Notes / Alt  Criteria 7 5 Supplier Notes / Alt  Supplier Notes / Alt  Supplier Notes / Alt	10 10 10 10 10 10 10 10 ET MINIMUM FOR ERY.  Criteria 8 10 ET MINIMUM FOR ERY MINIMUM FOR	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG Ad Ad Ad Manufacturer # SCUBCT	# of Servings P/Case  106  106  Iditional Information  # of Servings P/Case	0.838584906
Supplier Masters Distribution Braun Beef Company Space West Texas Nardone Bros. Bakine Company, Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOD PRODUCTS dba DON LEE FARMS	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA FOOD SS SO SO SO SO SO SO GOODMAN FOOD P BEEF & CHEESE TA Bene R. Sala Gold Cre Bround Sysco W Integrated Fit BEEF & CHEESE TA Supplied SHREDDED CHICKE Supplied GOODMAN FOOD SUPPLIED GOODMAN FOOD SUPPLIED GOODMAN FOOD BEEF & CHEESE TA Criteria GOODMAN FOOD SUPPLIED GOODMAN FOOD BEEF & CHEESE TA CRITERIA GOODMAN FOOD SUPPLIED BEEF & CHEESE TA CRITERIA GOODMAN FOOD SUPPLIED GOODMAN FOOD BEEF & CHEESE TA CRITERIA GOODMAN FOOD SUPPLIED BEEF & CHEESE TA CRITERIA GOODMAN FOOD SUPPLIED BOOD SUPPLIED BOOD SUPPLIED BOOD SUPPLIED BOOD SUPPLIED BOOD SUPPLIED	PRODUCTS dba DON ARMS sek Foods ck Food	600 600 Criteria 3 5 5 5 5 5 5  QTY 400 400 400 400 400 400 Criteria 3 5  QTY  QTY 500 500	Cases	No Bid  No Bid  Criteria 5 5 5 5 5 5 5  Unit Price  \$88.89  No Bid No Bid No Bid No Bid No Bid  No Bid  Vo Bid  No Bid	5	5 5 5 5 5 5 Supplier Notes / Alt  Criteria 7 5 Supplier Notes / Alt  Supplier Notes / Alt  Supplier Notes / Alt	10 10 10 10 10 10 10 10 ET MINIMUM FOR ERY.  Criteria 8 10 ET MINIMUM FOR ERY MINIMUM FOR	NARDONES  NARDONES  Total  100  95  90  85  80  Manufacturer  DON LEE	64WPG 64WPG Ad	# of Servings P/Case  106  106  Iditional Information  # of Servings P/Case	0.838584906
Supplier Master Distribution Braun Beef Company Sysco West Texas Nardone Bros. Bakine Company, Inc. Ben E. Keith Company  10  10  Supplier GOODMAN FOOD PRODUCTS dba DON LEE FARMS	GOODMAN FOOD P LEE F Gold Cre GARLIC PIZZA Criteria 1 60 55 50 45 45 45 45 46 BEEF & CHEESE TA Sup GOODMAN FOOD P LEE F Ben E. Keit Nadrone Fors. Bai Gold Cre Sysoo Sysoo Sysoo Sysoo Sysoo Shan Food Solutions (In BEEF & CHEESE TA Criteria 1 60 SHREDDED CHICKE Supp GOODMAN FOOD F Ben E. Keit Nadrone Braun Bee Shan Food Solutions (In Sh	PRODUCTS dba DON ARMS  Criteria 2  5  5  5  5  5  CO CRISP  Plier  PRODUCTS dba DON ARMS  king Company, Inc. eck Foods  f Company Chinese Food Solutions, c.)  est Texas  Tood Service icks, LLC  CCO CRISP  Criteria 2  5  EN & CHEESE TACO  PRODUCTS dba DON ARMS  ARMS  CO CRISP  Criteria 2  5  EN & CHEESE TACO  PRODUCTS dba DON ARMS  ARMS  ARMS  CO CRISP  Criteria 2  5  EN & CHEESE TACO  CRISP  CO CRISP  C	600 600 Criteria 3 5 5 5 5 5 5 6 QTY 400 400 400 400 400 400 400 Criteria 3 5  Criteria 3 5 5  Criteria 3 5 5 Criteria 3 5 5 Criteria 3 Crit	Cases  Cases  Criteria 4  5  5  5  5  5  Cases	No Bid  No Bid  Criteria 5  5  5  5  5  5  Cunit Price  S88.89  No Bid	5	5 5 5 5 5 5 Supplier Notes / Alt  Criteria 7 5 Supplier Notes / Alt  Supplier Notes / Alt  Supplier Notes / Alt	10 10 10 10 10 10 10 10 ET MINIMUM FOR ERY.  Criteria 8 10 ET MINIMUM FOR ERY MINIMUM FOR	NARDONES  NARDONES  Total 100 95 90 85 80  Manufacturer  DON LEE	64WPG 64WPG 64WPG Ad Ad Ad Manufacturer# SCUBCT SCUCCT SCUCCT SCUCCT SCUCCT SCUCCT SCUCCT SCUCCT SCUCCT SCUCCT	# of Servings P/Case  106  106  Iditional Information  # of Servings P/Case	0.838584906
Supplier Master Distribution Braun Beef Company Synco West Texas Nardone Bros. Bakine Company, Inc. Bea E. Keith Company  10  10  Supplier GOODMAN FOOD PRODUCTS dba DON LEE FARMS	GOODMAN FOOD F LEE F Gold Cre GARLIC PIZZA FOR	PRODUCTS dba DON ARMS sek Foods ck Food	600 600 Criteria 3 5 5 5 5 5 5 5 5 400 400 400 400 400 400	Cases	No Bid No Bid Criteria 5 5 5 5 5 5 5 5 Cunit Price S88.89 No Bid Vo Bid No Bid	5	5 5 5 5 5 5 Supplier Notes / Alt  Criteria 7 5 Supplier Notes / Alt  Supplier Notes / Alt  Supplier Notes / Alt	10 10 10 10 10 10 10 10 ET MINIMUM FOR ERY.  Criteria 8 10 ET MINIMUM FOR ERY MINIMUM FOR	NARDONES  NARDONES  Total  100  95  90  85  80  Manufacturer  DON LEE  DON LEE	64WPG 64WPG Ad	# of Servings P/Case  106  106  Iditional Information  # of Servings P/Case	0.838584906

	Rich Chie	cks, LLC	500	Cases	No Bid				DON LEE	SCUCCT		
11	SHREDDED CHICKE	N & CHEESE TACO			•		•					•
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Ad	ditonal Information	
GOODMAN FOOD PRODUCTS dba DON LEE FARMS	60	5	5	5	5	5	5	10	100			
	SHREDDED CHICKE	N CHEESE GREEN C	HILI ROLLED UP									
	Supplier		QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description		Manufacturer	Manufacturer #	# of Servings P/Case	Serving Price
	GOODMAN FOOD PRODUCTS dba DON LEE FARMS		600	Case	\$64.67	\$38,802.00	5,000 lbs. COMBINED MINIMUM FOR DELIVERY.		DON LEE	GSCCR340	70	0.923857143
		Ben E. Keith Company		Case	No Bid				DON LEE	GSCCR340		
12	Nardone Bros. Baking Company, Inc.		600	Case	No Bid				DON LEE	GSCCR340		
		Gold Creek Foods		Case	No Bid				DON LEE	GSCCR340		
	Braun Beet	Braun Beef Company		Case	No Bid				DON LEE	GSCCR340		
	Asian Food Solutions (Chinese Food Solutions, Inc.)		600	Case	No Bid				DON LEE	GSCCR340		
	Sysco We	est Texas	600	Case	No Bid				DON LEE	GSCCR340		
	Integrated F	ood Service	600	Case	No Bid				DON LEE	GSCCR340		
	Rich Chie	cks, LLC	600	Case	No Bid				DON LEE	GSCCR340		
12	SHREDDED CHICKE	N CHEESE GREEN C	HILI ROLLED UP		•		•					•
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Criteria 7	Criteria 8	Total	Ad	ditonal Information	
GOODMAN FOOD PRODUCTS dba DON LEE FARMS	60	5	5	5	5	5	5	10	100			